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1 =] R7.9.16 BEERLULM=F (FBE% BRHEE9(<3.7) BRHE9(<3.6) BRHEEY
2 FETH R7.9.16 BRLULV =T (FEER) BRHEET(<4.1) BRHEE9(<35) BHEEY
3 FEH R7.9.16 BEERLULM=F (FBE% BRHEET(<47) BRHET(<40) BREed
4 FasEET R7.9.16 BERLW=1F (%) BRHE9(<6.0) B®RHEE9(<5.0) -
5 =5 R7.9.16 BEERLULM=F (FBE% BRHET(<5.4) BRHET(<4.2) BREed
6 AT R7.9.12 BERLW=1F (%) BRHEEY(<5.0) BRHEHE9(<3.6) -
7 =BT R7.9.15 ERTOHT (EHh) BRHET(<3.0) 8.01 8.0
8 SEEEHE R7.9.16 [RARLGSHT (Fih) BRHEE9(<3.5) BRHEE9(<2.3) BT
9 A JIET R7.9.12 BEREGIT (EER) BREE9(<3.1) BRHE3(<3.3) BEed
10 [EEE3E 2] R7.9.17 FhY<R) (FREHE) BREE9(<38.7) 415 42
11 FSERT R7.9.16 HSRIRT AL A (FRE) BHE9(<6.9) 11.9 12
12 [ 4] R7.9.12 ROX424 (ERE) BRHEE9(<3.3) 5.92 5.9
13 [EE3E3) R7.9.15 NI XATF(ERE) BRHEHET(<41) BRHET(<40) BRHEET
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